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Planta (-82.5)
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Relação do aço

ELEMENTO
AÇO N DIAM

Q
UNIT

(cm)

C.TOTAL

(cm)

Corte A-A CA50 1 6.3 100 169 16900

Corte B-B CA50 1 6.3 100 169 16900

Corte C-C CA50 1 6.3 474 169 80106

Planta (-82.5)
CA60 1 5.0 72 86 6192

CA50 2 6.3 108 739 79812

CA50 3 6.3 72 464 33408

CA50 4 8.0 36 125 4500

CA50 5 8.0 72 137 9864

CA50 6 8.0 18 119 2142

CA50 7 10.0 24 158 3792

Resumo do aço

AÇO DIAM C.TOTAL

(m)

PESO

(kg)

CA50

CA60

6.3

8.0

10.0

5.0

2271.3

165.1

38

62

555.8

65.1

23.4

9.5

PESO TOTAL

CA50

CA60

644.3

9.5

Vol. de concreto total (C-30) = 14.89 m³

Área de forma total = 207.52 m²
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